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			The Industrial Revolution


			Key information


			

					
When:
	The First Industrial Revolution began around 1750 and ended in 1850. 


	The Second Industrial Revolution began around 1870 and ended in 1914.







					
Where: Europe and the USA.


					
Context: The increase in population and demand required a higher production rate. To achieve this, improvements had to be made across several sectors, which gradually became mechanised.


					
Key protagonists:
	John Kay, British inventor (1704-c. 1780).


	James Watt, Scottish mechanical engineer (1736-1819).


	Karl Benz, German engineer (1844-1929).


	Thomas Edison, American inventor (1847-1931).







					
Impact: 
	Unprecedented economic changes.


	Acceleration of demographic growth.


	The emergence of new social classes.


	The Third Industrial Revolution.







			


			Introduction


			Since the late 15th century, Europe had been experiencing slow economic growth punctuated by constant crises. However, in England this growth accelerated in the second half of the 18th century thanks to a demographic explosion which would require a higher rate of production. The textile sector was the first to become mechanised, followed by the metallurgy and mining sectors. The changes that took place were so significant that the period is referred to as the Industrial Revolution.


			However, the events that took place between this time and the 21st century were not a complete break with the old order. It would be more correct to talk about a phenomenon of industrialisation which had an undeniable impact on human history. For the first time, the means of production of material goods developed across all sectors, profoundly changing the day-to-day lives of individuals. 


			An essentially agricultural Western society defined by weak growth became an industrial and commercial society characterised by the constant search for improvement with the aim of increasing production capacity. These changes obviously had economic, social, environmental and political consequences. However, far from being a unique and repetitive process, the history of the Industrial Revolution spans several centuries and is still being written today.


		




		

			Context


			Britain and the start of the industrial era


			Since the end of the 17th century, the British population had been growing spectacularly. Unlike in previous centuries, when spikes in the birth rate were accompanied by a high mortality rate, the mortality rate was now gradually decreasing. The population rose from 6 million inhabitants in 1760 to 12 million in 1820. Although this growth provided the agricultural sector with a considerable workforce, there were also more mouths to feed, and this number was rising much more quickly.


			With this in mind, and with favourable circumstances on its side, Britain was the first European country to enter the era of industrialisation. This head start on the rest of the continent can be explained by a range of economic, political and societal factors.


			A thriving market


			Britain’s markets, both domestic and foreign, were sizeable and flourishing. Unlike most European countries, Britain had lifted customs duties at the start of the 18th century, which meant that the price of imported products had not increased. This was not an insignificant factor for a country with many colonies from which it could draw the resources needed to produce its goods. Furthermore, British subsoil was rich in raw materials that could easily be exploited. These included coal and iron, which are indispensable for industry to function effectively. A very developed communication network for the time and the many waterways in the country made it easier to transport them. These waterways were of vital importance: not only did they allow raw materials and products to circulate, but they also made it easier to work the machines.


			The country’s economy was just as strong. Britain’s currency (the pound sterling) could be found on every continent and, in the 19th century, would become the currency of international trade. Finally, the financial and banking networks were concentrated in the heart of London, in the City, further strengthening the economy.


			Policies to encourage industrial development


			The state would also play an important role in the coming revolution. The British government was responsible for a series of laws encouraging scientific education and industry. Furthermore, it granted a certain degree of autonomy to local decision-makers, who were more aware of the realities and economic needs of their region, which allowed them to take a certain number of decisions to facilitate industrial development.


			However, according to the French historian François Cochet (born in 1954), the essential factor in Britain’s early entry into the Industrial Revolution is more to do with the political maturity and social openness of the country, which were a result of the revolutions of the 17th century. Indeed, the monarchy was less absolutist than in the rest of Europe, and therefore did not impose its own vision of mercantilism.


			

				

					17th century England: a period of major upheaval


					The rupture between Parliament and King Charles I (1600-1649) marked the beginning of the first and second English Civil Wars (1642-1649), which culminated in the execution of the king and the proclamation of the Commonwealth, a government led by Oliver Cromwell (Lord Protector of England, Scotland and Ireland, 1599-1658).


					In 1660, the monarchy was restored and King James II (1633-1701), who was very authoritarian and a strict Catholic in a mostly Protestant country, acceded to the throne. The tensions that had subsided were quick to reappear and royal prerogatives were reduced following an Act of Parliament. Power was gradually decentralised and the middle classes saw their position in society strengthened, while the landowning aristocracy lost its monopoly on political power. In addition, the adoption of the Bill of Rights in 1689 forbade the raising of taxes unless this was agreed by the national parliament first, and enshrined many individual freedoms, including freedom of speech and the right to petition. This all helped to make English society more individualised and more open, with fewer social groups with codified practices, as was the case elsewhere in Europe.







OEBPS/Images/9782806289971_title.png
THE INDUSTRIAL
REVOLUTION

The Birth of the Modern World

Written by Jérémy Rocteur
In collaboration with Thomas Jacquemin
Translated by Rebecca Neal

RECLA 50MINUTES .co





OEBPS/Images/9782806289971_coverMarketing.png
THE INDUSTRIAL
REVOLUTION

The Birth of the Modern World






OEBPS/Images/EN-_History.png
50MINUTES.com

BECOME AN EXPERT
IN HISTORY

George Washington

www.50minutes.com





